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2020
( Held in 2021 )

BOTANY
( General )

( Structure, Development and Reproduction
in Flowering Plants )

Full Marks : 56
Time : 3 hours

The figures in the margin indicate ﬁm marks
for the questions

Answer either in English or in Assamese

GROUP—A
( Marks : 28)
| 1. Answer the following questions/Fill in the

blank : ' 1x4=4
O PR T B/ S
(@) Who discovered the method of double

fertilization? , :

fB-Fas =S @ wfigR IR 2
(b) Stomata belongs to _ tissue éystem.

AAH TSR fSeqo 2q |
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(2)

(c) What is coleorhiza?
JeTR 2

(d) Which parts of embryo sac produce
seed coat?

FIEAR D WR NS I B I3 ?

2. Write on the following : 2%x3=6
e frare eeige ford

(a) Periderm
ISR

(b) Growth ring of plant
Tfewa I 3=

(c) Significance of doubl_e fertilization
fR-fcas sieel

3. Write on any three of the following : 6x3=18
oot AR R @ fofbrR eows fom -

(a) Diversity of plants form

e s152 (afowm

(b) Monocot seed
PR TR A
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(3)

(c) Follicle and pome fruit

o ’a S A T

(d)‘ Vascular cambium

TRIZAY @A

(e) Tapetum
COTAoT

GROUP—B
( Marks : 28)

4. Answer any four of the following questions :
7%x4=28

Toq 2R R e wifet T fun -

(a) Which tissue is responsible for growth
and development of plant? Discuss its
characters and importance. . 1+3+3=7

ARy T TR I T RIre wids?
R I WF BFY A 4 |

(b) How do you distinguish dicot and
monocot plants based on characters
of germination, leaves and stem
anatomy? 1+1+5=7
IR, TS SF PIGI *AI TTAN IFBR A
R-Neoid WF GFAFA TEHE (AT T
P12
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(4)

(c) Why is leaf called food factory of plant?
Where is stomata present in plants?
Differentiate between dorsiventral and
isobilateral leafs with examples. 2+1+4=7

7 roc Sfers MR PR I PRI =W 2

TR 37T 'S “iaad AT 2 Tz 1 Ko
w:ﬁsﬁq@nwmmﬁm

(d) What do you mean by life span?
Describe various theories of cellular

organization. 2+5=7
& w1 PR {\3?7‘? R FHRAITI
PRI

(e) Which part of seed helps in the process
of germination? Discuss different types

. of it with diagram. PP 1+6=7
wwr%wm@w\ﬁwm? 7
mﬁs@wﬁhmwwu

i) Wthh type of dicot embryo sac is
most common in angiosperms? Discuss
about the properties and functions of
vascular tissues. - . 1+6=7

QERY SR @@%1@%1 %F@r YRS (AT
wvﬁwwﬁwwmwm
5P | .

* K %
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